4 )
UIFO P& | rechnical Data: MCCB250 (E250-SJ)
components IP4X Enclosed MCCBs
4 )
A Important Safety Notice P
It is the responsibility of the person installing the electrical equipment to ensure that the installation meets the
requirements of the IET wiring regulations and is therefore fit for purpose’. Factors such as correct selection =y
of components, cable sizing, protective devices and Earth bonding are all critical and should be checked prior to g
full testing and power-up. Any other regulations applicable to the equipment being installed such as the i
Machinery Directive and current health and safety legislation must also be adhered to.
All connections (including factory made) must be checked for the correct tightness prior to commissioning of &
the electrical installation.
All connections should be checked periodically to ensure correct tightness. c E
\_ DO NOT USE POWER TOOLS ON THESE PRODUCTS ~)
MCCB250-3PNL-MC
i |
WARNING: All connections
= H‘_-' = @ o 8 (including factory made) must be
‘ « - checked for the correct tightness
| prior to the commissioning of the
_%_ ‘ ﬁ_ electrical installation
TOP AND BOTTOM
GLAND PLATES
275 FIXING CENTRES 2mm THICK
4 x HOLES 8.5 DIA
\T/ -
D @ —— @/ [
——T—
[ C—— M10 BOLT
‘ 22 - 37Nm
NOTE: TERMINAL
SHROUDS NOT ‘
SHOWN FOR CLARITY
M8 BOLT
4‘7 8- 12Nm
485 | 485 o)
M6 BOLT ”
o 6Nm Max.
» o Ol 1o -H
x ‘ ® I
z | 0] M8 BOLT
3 o = 1 8 - 12Nm AR
i I
£ |
S ® i
T
3 o © ®) o Mile! = el
20
- o 2 lI
‘ 23
‘ ¢}
MAXIMUM CABLE SIZE
2 x 120mm sq. 87
w ©
8 | ™
|
© %‘ © |
400 E‘/'
RoHS
5 I.‘._ulnplinn‘l
A\ y
| Page 10f2 J L EDS1206-001
J




e

uropa

Technical Data: MCCB250 (E250-SJ)

components IP4X Enclosed MCCBs
MCCB250-4P-MC
K
l i ]
il il

275 FIXING CENTRES

WARNING: All connections

(including factory made) must be
checked for the correct tightness
prior to the commissioning of the

electrical installation

TOP AND BOTTOM
GLAND PLATES

/4 x HOLES 8.5 DIA

NOTE: TERMINAL
SHROUDS NOT
SHOWN FOR CLARITY

|
© —
— T———

M10 BOLT
/22 -37Nm

2mm THICK

v

M8 BOLT
L 8- 12Nm ©
Q o H
o
'_
z
w
o @)
R 2 - - -
x
[T
3
© (@] i ]3
e}
MAXIMUM CABLE SIZE 87
I 2x120mm sq.
(o]
<
N
|
| ——
| ——
| ——
© . © I
400
\_
Europa House, Airport Way, Luton, Beds, LU2 9NH Tel: 01582 692 440 / Fax: 01582 692 450
L Page Tof2 J e-mail: sales@europacomponents.com / website: http://www.europacomponents.com EDS1206-001

J




mirr

@ TERASAKI

DATA SHEET: TEMBREAK 2 E250-SJ MCCB

MCCB Electrical Characteristics to IEC 60947-2, EN 60947-2, JIS C 8201-2-1 ANN.1, NEMA AB-1

Frame Reference Quantity Unit Condition ;
Max In (A) of Frame 250
Model E250
Number of Poles 3,4
Type SJ
In (A) 50°C 100,125,
160,200
250
Electrical characteristics
Rated operational voltage Ue V) AC 50/60 Hz 525
DC 250
Rated insulation voltage Ui (V) 800
Rated impulse voltage Uimp (kV) 8
Ultimate breaking capacity lcu (kA) 690V AC -
(IEC, JIS, AS/NZS) 525V AC 7.5
440V AC 15
400/415V AC 25
220/240V AC 35
250V DC 15
Service breaking capacity les (kA) 690V AC -
(IEC, JIS, AS/NZS) 525V AC 6
440V AC 12
400/415V AC 19
220/240V AC 27
250V DC 12
Rated breaking capacity (NEMA) (kA) 480V AC 10
240VAC 35
Fixed thermal, fixed magnetic -
Adjustable thermal, adjustable magnetic [ |
Utilisation category
Front connection (FC) |
Extension bar (FB) °
Cable clamp (FW) °
Rear connection (RC) °
Plug-in (PM) -
DIN rail mounting (DA) -
Dimensions height (mm) 165
width (mm) 3 pole 105
4 pole 140
depth (mm) 68
Weight weight (kg) 3 pole 1.5
4 pole 1.9
Direct Opening Action u
Toggle operation |
Door mounted (HS) / Breaker mounted handle (HB) °
Motor operation °
Endurance Electrical cycles 415V AC 6,000
Mechanical cycles 18,000
B Standard e Optional - Not Available

Page 1 of 3



@ TERASAKI

Innovators in Protection Technology

DATA SHEET: TEMBREAK 2 E250-SJ MCCB
Outline Dimensions E250-SJ

ASL: Arrangement Standard Line H: Handle Frame Centre Line

Front connected

) o9 _ With extension bars Drilling plan
Preparation of \@i%g (optional) (front view)
® w conductor L1 V5P nepoebarer s Mounting hole
- 25(ma><7.) " (removable) it
I [} Interpole barrier I max.t’ — I Conductor
E (removable) i Conductor i overlap, max
1 II = overlap, max Il 28
bl i 3 e 5, oy (33585, 4 3p 4ap
H " ‘ I Mounting hole M8 screw m =y i1 =y H M it
P [=] Q
L - ” s =
JQ} S5 =1y hd| E + + |+
® ®
2]
7S Sy @ PN ® N
icRcucillodoMele BN g T T
70 35 35 35 M4X0.7
‘ 105 ‘ 105 ‘ 6A8$ L* Tapped hole
140 48.5 |48.5 |485 | |— Note: For the extension bars, Straight bars or
169 Spread bars can be supplied.
Mounting screw
Rear connected
Drilling plan (front view) Panel cutout (front view)
) i 4P
Detail of Mounting plate
etail o (max. 13.2) 3p 3P " ap . ap
connecting part | — i " g i
52.5 i 52.5 i
e A e A s - -
,% 0, FAAWAAWAAY TAAWAAWALWARY
5 NZANEAN AT SEa
,g_ L0} Conductor 3 - * ¢ gz ¢ 3
overlap, max - ~ N
22 09
oyt =1 ParYPaniany AT
- S Max0.7 ANDIANPIAND/ N 7 a0 7
o . . 53.5 53.5
6 ha l‘-ﬁ S'L:d canobe turned Mounting screw 35 35 Tapped hole [ 107 . 142
60 72 A8°0r90° |35 |35 |35 | 35|35 35|35 |35 |
68 107 Panel cutout dimensions shown give an
allowance of 1.0mm around the handle
escutcheon.

Page 2 of 3



@ TERASAKI

DATA SHEET: TEMBREAK 2 E250-SJ MCCB

Time/Current Characteristic Curves
E250-SJ (100 ~ 200A)

4=~ Min.

Tripping Time

N 100 - 200A Max
N Magnetic trip settings

% - [
! 100 - 200A Min 1040% - 1560%

' Magnetic trip

settings
02 400% - 600% -

0.1
0.06
0.04

0.02
0.01
0.005

o wn o o o0 O O
o N o o OO0 O O
-~ N » FToO K O

=

Percent Rated Current

1500
2000
3000
4000
5000
8000

Time/Current Characteristic Curves
E250-SJ (250A)

Tripping Time

250A Min 250A Max
" ||| Magnetic trip Magnetic trip
0.4 ° ’
settings N\, _’4 settings
02--—1400% - 600% 880% - 1320%
0.1
0.06 \
0.04 ERL o
0.02
0.01

0.005

[=2aTel (=3 o 0o O
o A o o OO0 O
- - [SYREER SRS T I NS

Percent Rated Current

1000
1500
2000
3000
4000
5000
8000

Page 3 of 3



TERASAKI

Innovators in Protection Technology

®

TemBreak

J=—kai—XFlL—%
EIREREAE

Instruction Manual for Moulded
Case Circuit Breakers

3 (Types)

- BEZEH (Fix Types)
E250-SCF
E250-SF
S250-SF

- IR
(Adjustable Thermal Magnetic Types)
E250-SCJ
E250-SJ
$250-SJ

AFHPEE,ZFERICEZADEFTTRIIRELTT IV REBISENTOAVEREL,
RURES1EBIRWNCE->TEURBEICRL T I — U BETEAVEEA,

Please retain this manual for future reference.The Manufacturer assumes no
responsibility for damages resulting from non-application or incorrect application of the
instructions provided herein.

T SRERAN\TSRL

T547-0002 ABRATFEEHFXMERT-2-10
EEE 1 06(6791)9320

777X 06(6791)9274

R — L= 1 hitp://www.terasaki.co.jp

TERASAKI ELECTRIC CO,, LTD.

7-2-10 Kamihigashi, Hiranoku, Osaka
547-0002, Japan

TEL:81-6-6791-9323/ FAX:81-6-6791-9274
URL:http://www.terasaki.co.jp

E-mail : kiki-info@terasaki.co.jp E-mail:int-sales@terasaki.co.jp

2G0947SAA (KRB-0603)

N REEDZEE

WL (E LR AROFIC, LT ABEZOMON BBEL b HATES MBS, RO
BECEBEENR TICEHLTAS TRV T AL, COBESAE CH 2T BEED
Skl kIR IELTRALTHIET,

[ABRR]: R & 325 - 15 IS BRI R A 1Y 2 T BT % /2 13 B84 1) 5 AT B D
EESh 384,

TRV E B BRI BRERES B AT, PREEOEEYEEEDIS
AN EESNBIBE,

hd, ICHRBLAEECH RRICL> THEAGBRICES DUBEP HBYET,
WThbBBERNETT D TBFF-T FEL,

BETENZE (BIICHELEMORMATEIENIO5EBBLTTFEL.)

AEE

BERIHEFERE (BRIEL) FToTFE,

O E.Z T BENER BEREMHX IR BELERERBICHELEVTTIV,
KKEDERERELE 7, EEICEELEVWEZNDI H)ET,

@I, O VUMM EEDENRUORMAKEEN TL—HASMICASEVEIIC
BILTTFIW, KKEDERRE LS, REIEDEZNN HINET

@M LIEE, ERITL—h5EEO (OFF) ICL, TEL TWEWIEERERL TIT> T T AL,
BEDBZINDHIET,

Q4B TL—HDIHE 3HEMHEXDPERE L INBICERLTTIV, BERT
B TICASKDRERELNET,

@i T 1 UISHEEERF ML TREERICH M T T IV AKDEREBNET

@ T UDKET IR R ORI, IG TERICEIR L N
MHSEVESICLTTFEV IR TFHADBRBIEAE,  #7-
KEDBZND HNET

OEEK IL—HERBAUOEEHRREIE, TL—DikE
FTLTHBLTT IV TNV 7P REESN TOBIS R TEAL, g T —T%T
RF/N)TEELEDETHZL TT IV A2 LMERIEEREETIHEZNIHIET,

@7 — VAR OE ISP BENWTT =7 AN—Z (MEigEE) £+ DERLTT W, R T
EHEVGEDHIET,

HERENER

A fEBR
O THII MLV T TN BEDB I BIET,

A EE
@EHHICN YT GERT) L2581, EEERVERVTHASNRILE | (ON)ICLT

Taw, XER ERER) EEMULABEE, TL—DERBRLTTIV, KKED
BN HNET,

WFF - RREDER

AER
@R T Rk BPIRBEER T AP ToTTEN,
ORTF s, R TL—H%EEO (OFF) ICL, REBLTWENWZEERERL TITH>T T AL,
BEDHTNIHIET,
@i 71Ul EHRIAZER T LI THULEOL TT SV, KKEDRRELDNET,

BZOMmOEE

cAREED)-FREF> THBEFLEVT TV BEORRELNET,

c TL—HDOFEGOHN— R EVTTE, MEEE REERIECEE LA,

CTL—AICERT TR BHIERERICEL A HARDOODEEAL TTEL,
WrEEs NSV E REBERVBRAD BTN HIET

[1] Safety Notices

Be sure to read these Instructions and other associated documents accompanying the
product thoroughly to be familiarize yourself with the product handling, safety information, and
all other precautions before mounting, using, servicing, or inspecting the product. In these
Instructions, safety notices are divided into "Warning" and "Caution" according to the hazard
level:

: A warning notice with this symbol indicates that neglecting the suggested
procedure or practice could result in lethal or serious personal injury.

: A caution notice with this symbol indicates that neglecting the suggested
procedure or practice could result in moderate or slight personal injury and/or property damage.
Note that failing to observe notices could result in serious results in some cases.
Because safety notices contain important information, be sure to read and observe them.

HMounting Precautions
(For detailed mounting dimensions, refer to the TemBreak2 catalogue.)

A\ Caution

@Electrical work should only be undertaken by suitably qualified persons.

@Do not place the product in an area that is subject to high temperature, high humidity,
excessive dusty air, corrosive gas, strong vibration and shock, or other unusual
conditions. Mounting in such areas could cause a fire or malfunction.

@Be careful to prevent foreign objects (debris, concrete powder, iron powder, etc.) and
rainwater from entering product. These materials inside the product could cause a fire
or malfunction.

@Prior to commencing any work on the product, open an upstream circuit breaker or isolator to
ensure that no voltage is applied to the product. Otherwise, electrical shock may result.

@For 4-pole breakers, be sure to connect a neutral conductor to the N pole. Otherwise, an
over-current may hinder the product from tripping, thus resulting in a fire.

@When connecting cable or busbar to the product, tighten terminal screws to the torque
specified in this manual. Otherwise, a fire could result.

@Even when tightening the terminal screws and &4 [raano o
after conductor connection, do not apply excessive ;j‘;f,’igfs‘e‘%-ﬂ%ﬂ L | e o =! E E
force to the terminals. Otherwise, a fire may result. o = on

@For front-connected breakers, Insulate all bare
conductors of the line side until the breaker end. If interpole barriers are packed, be
sure to use the barriers; moreover, insulate all bare conductors by insulating tape or the
like so that the tape overlaps with the barriers. Insufficient insulation may result in short-
circuit.

@Do not block the arc gas vents of the product to ensure adequate arc space. Blocking
these vents could result in failure of circuit interruption.

MHandling Precautions

A\Warning

@Never touch terminals. Otherwise, electric shock may result.

A\ Caution

@When the breaker trips open automatically, remove the cause, then return the
handle to the |(ON) position. Should a fault be interrupted, the breaker must be
inspected. Otherwise, a fire may result.

HMaintenance Precautions

A\ Caution

@Service and/or inspection of the product must be done by persons having expert
knowledge.

@Before servicing or inspecting the product, open an upstream circuit breaker or the
like to isolate all sources of power. Otherwise, electric shock may result.

@Regularly check that the breaker terminal screws are tightened to torque values
shown within this manual, failure to do so may result in fire.

MOther Precautions

+ Do not carry this product by accessory leads, as this may cause damage to the
product.

+ Unauthorised opening of the breaker cover will invalidate product warranty.

+ When installing the product, use wires or conductors, the cross sectional areas of
which accommodate the rated current of the product. Using wires or conductors with
inadequate cross sectional areas may cause false tripping and overheat.

ABW—8 HEELLEADIR Packaged ltems/Assembly Tools

IR EARE

(XE)

Instruction Manual: 1
(This document)

#WF/INUT (FCODH)

._Interpole Barrier

JL—%. 1
Breaker -

(Only FC)
2P:2
3P:2
4P 1 3
= Type
s/ E250-SCF, E250-SF, S250-SF, E250-SCJ, E250-5J, S250-5J
Connections/Poles 7 BAhL # L
Qty Mounting screw Qty Connecting screw
*@EW (FC) ® 2 ® 4
Front 3P| 2 | MAXS55 3P| 6 | M8xis NP
Connection P 7 M P 3 @‘\\3\
=T 2P 2 2P 4
=@ (RC)
Rear P 2| M g [P 6| MEXD
Connection P 7 P 3
-7 2P 2 2P 4
ZIAT (PM) f
Plug-in 3P| 2 | M4xes 3P| 6 | M8 =)
Cor?necﬁon P M 4P| 8 o>
BT (FP) P 2 ®| 4
Flush Plate P 2 | wexIs P 6 | MBX2 W
Where Applicable [7p 7 1) 3

BIELE{E Operating Instructions

TRIPPED

RV
Handle
| )y TRz
Trip Button L
(ON)
(OFF)
2 v R r
Opﬁ?ﬁion Sp/erat{or?jflf?ggt 1 ﬁf
O(OFF)= | (ON) 53N
| (ON)= O(OFF) 5N
TRIP= O(OFF) 9IN

4| ERIIBMmMDEM  Fitting Internal Accessories

Alarm Switch

1

Auxiliary Switch

*I

TRBEISNL
Undervoltage Trip

EHAT
- T2ALOOL
= BIALT
{wléﬁﬂgj‘ T2AX00L

= <
©)= \ BRI
<) i@ Shunt Trip

@ 3

T2sHool’| | T2uvool| |

* ftBRMDRES
* Symbols of Accessories

J>J7'%—% Ring Mark

BNy F EHA(VF
Auxiliary Switch Alarm Switch
( alEm biEm affm | bR
a contact b contact | a contact | b contact

/AXc-14AXa | 11/AXc-12AXb

IAXc-24/AXa | 21/AXc-22AXb | 91/ALc - [91/ALc -

11

21

31/AXc-34AXa | 31/AXc-32AXb | 94/ALa | 92/ALb
41/AXc44/AXa | 41/AXc42AXb

BESINLER TEBESINUER
Shunt Trip Undervoltage Trip
power source power source
C1-C2 D1-D2
HAEYE inati =
AR Combination FESOERE
N * Symbols of Accessories
1 (0N 1 (0N BARG| & H L BB DNIE AL
wnl 1!l |'weinl e i
% I IH Q DI I IH Q H " Pull Out Leads on Load Side Removal
- EEN = =18 (EEE = EEE
O(0FF) O(OFF)
1 1
LTI T
| (ON) S

o ]

o oA
g 1L @ BIRERT

O(OFF) N ¥ Form the cable
101

Ry F&1D (£21320) MfHIB5HE,

ERIDSIEE SR TTE,

In case of fiting one (or two) auxiliaryswitch,

fit in an order from a left side-slot.

T ERBASE, DT ERCEBETSIEERIAL TS, IFERATEL,
+ After fitting, verify the function of the Accessory.




AR ER
FmEl - REw
Breaker Mounting
Procedure for FC/RC

A M4X55 mm
1.3~17N+*m

7

JyvaTl—Fh
Flush Plate

T2FP2501S % B

T2FP2502S * B

T2FP2510S % B

T2FP2511S%B

*:3 or4(f8#{ Poles)

(6| AFM{IESE 12;AK Breaker Mounting Procedure for F.P ( Where Applicable )

B SRGEREN REW - EAK
Conductor Connection Procedure for RC / F.P ( Where Applicable )

HEETE Arrengment Set (0°,45°,90°)
. o € # M
S % e N
E = — SON SYIBES :’_

EEZAS YK
Frat Bar Stud

T2RP25L % S
*:2, 3 or4 (5% Poles)

M6X18 mm
7.8~11.8N'm
M 9mm
M8X25 mm
11.8~18.6N'm

DISHERER REY

Conductor Connection Procedure for FC

]I NELARTFEFEARR REWY

Solderless Terminals Mounting Procedure for FC

JIVE L ZEF
Solderless Terminal

T2FW25LS *
*:2, 3 or4 (18%] Poles)

R2

FFMAERT AW

Breaker Mounting Procedure for PM

NI
Plug-in Base

T2PM25LE *
T2PM25LC *

#:2, 3 or4 (1831 Poles)

IFIN—
Flat Bar @ @
T2FB25L * S ,y
T2FB25L * W W EE* vy T
*:2, 3 or4 (H5#] Poles) Q :R} End cap |
¥ E250-SCJ, E250-SJ
C =2mm TOFW25LS * > '
S O n 51 =z 5250-S.4- 0 A
E 8.4mm B NIIXE P =t2omm: o Use for E250-5C, MEBRDBE. WMAHLIRIKELY T,
F =25mm 225~37.2N-m Q] ©@1Nm ® E250-SJ, 5250-SJ For 4 pole, use the 4pcs mounting screw.
G =11mm R [_M6X20mm P
= - —
; o -BEAORBREIL, L —HREE TR TRELTTA, 59~03N'm B LR FORFIR TRV E T, |
-Insulate all bare conductors of the line side until the breaker end. ‘ 2G0947SAA (KRB-0603) R2 * When removing, remove the items in reverse order of mounting.
BFNY TRAES WFHN—BIER 3N KIVEIWSIRAESE  Handle Holder Mounting Procedure LG 7

Interpole Barrier
Mounting Procedure

_——

wFNIT
Interpole Barrier

T2BA25L * SH
*12, 3 or4 (#8%] Poles)

B LB DB FIETITVET,
*When removing, remove the items in
reverse order of mounting.

Terminal Cover

Mounting Procedure

Wt HN

-0y 7
Terminal Cover Lock

T2CF20L

i WwFHIN—

Connection Terminal Cover
*
& T2CF25L % SS
Front Connected T2CF25L * SL
(FC) T2CF25L % SW
RE - EAW
Rear/Plug-in Connected T2CR25L *
(RC/PM)

*:2, 3 or4 (1&% Poles)

B LB OB FIETITWET,
*When removing, remove the items in
reverse order of mounting.

O (OFF) B
Holding O (OFF)

N RIVRIVE
Handle Holder

T2HH25L

AU IRBUHF DB FIBTITVET,
*When removing, remove the items in reverse order of mounting.

Adjustable Thermal Magnetic Type

o lfxh)  alxh)
( :57 ns,@
" 0.6

- AIEREET (B R T R T T,

Ny vy JBRFHGEE  Handle Lock Mounting Procedure

NeRVay T
Handle Lock

T2HL25L

NRVAYTIE, | (ON),O (OFF) IEDWTh T M c&Ed,
+Handle lock can be fitted in any position of | (ON) and O(OFF).
AL B OB FIBTITVET,

*When removing, remove the items in reverse order of mounting.

Ei{EHFtERhER  Time/ Current Characteristic Curves
THREBITAZHEELTE T 9o Under bar is default setting.
06308 1 X/ 06308 1 X/n

/r Adjustment Range /r Adjustment Range

/i Adjustment Range /i Adjustment Range

6 810 13x/h [/ 57 91x/n !
(1n =100, 125, 160, 200A) (In=250A)

- AIEREET (B R T R T T,






